(2x-3V8) (x+a) B AASHAL W, x o A%} -3 ol 45
2 gnjelr] potofet.

[
[= B}

>
> =t -9

B

(#4) =

x2—|—2ax—3\/§x—3\/§a
x? + (2a - 3V3)x - 3V3a
20 -3V3=-3 La=13
—3V3xa=-3V3x V3=-9

2
2




2.

6x° +7x+2 = U206t (ax+b) (ex+d) 7L ATh a+b+c+d
o] g Fstoiet

> E:

> Het: 8

6x2 +7x+2=3x+2)(2x+ 1)
La+b+tc+d=28




3. FA(x-3)2-2(x-3)-35922x? +x-69] TTU AFTE T
@ x+3 @x—l—Q ® 3x-13
@ 2x-3 ® x-10

B

x-3 =12 gt
?=2t-35=(t+5)(t—7)
=(x-3-T)(x—3+5)
= (x=10)(x+2)
T, 2% +x-6=(2x-3)(x+2)
e 5 s x+2




(x+3)2=6(x+3)—16, x>+ 3x—10 °] FF2I 152 Fsfoia},

> &g x+5

(x+3)>-6(x+3)-16
=(x+3+2)(x+3-8)

= (x+5) (x—5)

¥ +3x-10=(x+5)(x—2)

LB FE cx+5




~6x2 +ax—12 7} 204 3 0 2 WpiroEol A ), ¢ ©] ghe FoH?
@-17 o4 01 @13  O17

22 (Ax+ B) 3L 5
(2x + 3)(Ax + B) = 2Ax? + 3Ax + 2Bx + 3B

= —6x% +ax—12
2A = —6
L A=-3
3B =-12
.. B=-4

" a=3A+2B=-9-8=-17




2> +ax-3 2t A7t x -1 L W, 5 a Of #27

-1 -3 On @ 3 ® 4

232 +ax-3=(x-1)(2x+3)=2x>+x-3
Ta=1




VIS+3T VI5-2F5 E 454, 2VTH3V2-1 35 22 55 bty
st b—a o gHE F5HA?

@ 4 @ 2 ® 0 @ -2 )

S5 «
@ Vi8+3-(V15-2)= V18 +3- V15+2>0
V1843 > V15 -2
@2Vi-(3V2-1)=2V7-3V2+1= 28— VI8 +1>0
L2V7>3v2-1
na=V18+3=3V2+3,b=3V2-1
b—a=3V2-1-(3V2+3)=—40°]|t}.




o

al

AT
D a-b>0 @ b-a<0
@ ab>0 @a+1>0

FAFab7ta=8-3,b=-VT+ B I s F &2
A

® b+ V7>3

a-b = \/5—3—(—\/74- \/§)
@ = V7-3
=V7-v9<0
La—-b<0
b-a=-VT+ V8- (V8-3)
@ =-V7+3
=V9-V7>0
o b—a>0
@ FHM)=b+ VT =-V7+ VB8+ V7= V8
($H)=3= 9
L b+ V7<3
@a=V8-3=V8-V9<0
b= V8- V7>0
soab <0
a+1=(V8-3)+1
® = V8-2
= V8- V4>0

La+1>0




9. A% n ol thstel yi O] A5 FEE f(n) ol T, £(72) - £(32)
of & Fsfoiet.

V72 =8... 0B J45 REO g AL BB (g =
6V2 — 8 o]t}
V32 =5 O|BRE Hp HBO 5 45 HHEO 325 =
42 -5 o]t}

f(72) - f(32) = (6V2-8) - (4V2-5) =2

=
5
o
T




10. A< p o iste] i O A4 FEE f(n) 02 vEbd o, £(1) +
F2)+FB3) + F(4) + -+ f(10) ] gh= Fapeqet

> E

> =t 19

B

), £(2), f3) =1

f(4), £(5), £(6), £(7), £(8) =2

f(9), f(10) =3
Al+14+14+2+424+2+24+2+3+3=19




